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FER - &% 5%F10A218 (1) RIERLR T -
Y= F =55 LRy F I h— K (FARIE
JIE 152 K £ 7oK 42 [ BX| HCP [y k
1 2] k¥ R 43 45 88| 22.0] 66.0
2 | A R 42 49 91| 21.7] 69.3
3fiL/BG| MH #— 40 41 81| 11.3] 69.7
4 fz] RO IERE 41 44 86| 15.1] 69.9
b | HZE B 46 52 98| 27.6| /0.4
6 fir| Z=A thi 53 45 98| 27.3| /0.7
] i YERE 155H 42 45 87| 16.0/ 71.0
8 | K#¥ 18+F 41 42 83| 11.7] 71.3
9 i A F= 39 44 83| 11.6] 71.4
10 fii| HiE 8B 43 40 83| 11.3| /1.7
11 fz| IR —th 47 51 98| 26.3| /1.7
12 fi1| JRH ZF 42 43 86| 13.2| 71.8
13 | Tk BEn 46 43 89| 16.2| 72.8
14 1] % EA 45 40 86| 11.9] 73.1
15 | HR & 45 49 94| 20.9| 73.1
16 fiz| HIL AR 46 50 96| 21.9| 74.1
17 | {£iE 58t 45 43 88| 13.1] 74.9
18 | P& EX 48 40 88| 12.7] 75.3
19 | 9% BEK o0 o/ 107} 30.0] 7/.0
20 1| AZE BT 92 ol| 103] 25.5| 71.5
ZHE| k% R=F 49 45 94| 16.4| 71.6
22 5| ISH FI 5 4] 46 93| 15.4| 71.6
23 1| —K Ft 48 45 93] 15.0{ 78.0




24 | LA EiF 48 53| 101} 23.0] 78.0
25 fiz| JIl.E EEEI 50 438 98] 19.2| 178.8
26 | MH BE# 43 6 99| 20.0[ 79.0
27 fi| #MH =& 50 59| 109] 30.0] 79.0
28 | 7 BE 42 46 88| 8.9 79.1
29 fu| AR & 48 47 95| 15.5] 79.5
30 fiz| BEH &= 45 52 97 17.1] 79.9
31 fiz| &2 R 50 51| 101} 21.0] 80.0
32 fii] == #RER 48 o4 102] 21.9] 80.1
33 fiz| AH FM o1 o0 101] 20.8] 80.2
34 fu| £ BX 50 o1| 101} 20.7] 80.3
35 fiu| [RME #EHE 53 47/  100] 19.2| 80.8
36 fi| {ERE JiE 41 48 95| 14.2| 80.8
31 fi| BE f#— 6 b0 111} 30.0] 81.0
38 | HAX R 50 bo| 105] 22.7| 82.3
39 fu| BN F= 44 48 92] 9.2| 82.8
40 fiz| WK ¥z 52 o4 106] 22.5| 83.5
M hi| IR/ F 50 46 96/ 12.3| 83.7
42 | #FE RE 5/ o/| 114] 30.0] 84.0
43 fir| #EF fE— o4 o3| 107] 22.7| 84.3
44 f1| A 1FHE 41 46 93| 8.6/ 84.4
45 fu| S 5E 48 47 95/ 10.6] 84.4
46 fz| FAHA b 99 48] 103] 18.2| 84.8
47 2| JiE F 53 52| 105] 17.6] 8/.4
BBE| 585 4% 61 of| 118] 25.3| 92.17
49 fu| B FE 60 61| 121| 27.3] 93.7




